
■ 正しい説明になるように、点を線でつなぎましょう。

① ⑦

② ⑧

③ ⑨

④ ⑩

⑤ ⑪

⑥ ⑫

0.201 2.01

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

5.069 506.9

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

20.26 2026

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

60.39 0.6039

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

734.5 73.45

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

2.04 20.4

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

100.35 1003.5

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

0.32 0.032

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

0.803 80.3

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

8.075 80.75

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

641 6.41

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると

5.802 0.5802

を100倍すると

を10倍すると

を10分の1にすると

を100分の1にすると
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